International Indian School Buraidah
Sample Question Paper-MID-TERM 2024-25
Subject: Environmental Studies

Duration:2.5 Hours Class: IV A/B/C Max. Marks: 60
A. Multiple Choice Questions [10x1=10 M]
1. My house is my property.
a) private b) public c) lost
2. The managing body of the village is called .
a) Club b) Gram Panchayat c¢) Pradhan
3. An ideal house must get enough sunlight.
a) germs b) pollution ¢) Sunlight
4. We wear cotton clothes in summer.
a) woolen b) dark coloured c) cotton
5. Historical monuments are properties.
a) Public b) private c) lost
6. Elected members of a Gram Panchayat are called.
a) Pradhan b) Panch c) Sarpanch
7. Fats keeps our body warm and give a lot of energy
a) Fats b) Vitamins c) Water
8. Preservation of milk is done by boiling
a) salting b) boiling c) freezing
9. Eskimos live in igloos.
a) stilt House b) igloos ¢) wooden houses

26.

27.

10. The head of RWA is called a
a) Prime Minister b) Sarpanch c) President

. Fill in The Blanks [10x1=10 M]

11. property is owned by a single individual.
12. We should not in the public transport.

13. A also has various clubs.

14. is the ability to do something well.

15. Independent houses with gardens or lawns are called

16. food can be eaten raw.

17. People wear different for different professions.
18. We wear to cover and protect our body.

19. The organs which help us in breathing .

20. The is largest gland in human body.

. Identify The Pictures [5x1=5 M]
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. Choose the correct option [5x1=5 M]

1. Both A and R are true and R is the correct explanation of A.

2.Both A and R are true but R is not the correct explanation of A.

3.Ais true but R is false.

4 A is false but R is true.

Assertion (A): The students get to learn many things when they are part of a school club.
Reason(R): The clubs provides no opportunities for the children.

1.Both A and R are true and R is the correct explanation of A.

2.Both A and R are true but R is not the correct explanation of A.

3.A is true but R is false.

4.A is false but R is true.
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28.

29.

30.
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Assertion (A): We do need to preserve any food item.
Reason(R): Preservation does not let food items get spoilt.
1. Both A and R are true and R is the correct explanation of A.

2. Both A and R are true but R is not the correct explanation of A.

3. A'is true but R is false.

4. A is false but R is true.

Assertion (A): A Gram Panchayat is formed in a village.
Reason(R): A Gram Panchayat is the local governing body.

1. Both A and R are true and R is the correct explanation of A.

2. Both A and R are true but R is not the correct explanation of A.

3. Ais true but R is false.

4. A is false but R is true.

Assertion (A): People live in tents while camping

Reason(R): Tents are temporary houses made of canvas.

1. Both A and R are true and R is the correct explanation of A.

2. Both A and R are true but R is not the correct explanation of A.

3. A is true but R is false.

4. A is false but R is true.

Assertion (A): We should keep our classroom neat and clean
Reason(R): Classroom is your private property.

One word questions

31. Diseases that spread from one person to another.
32. Enteric fever is also called as.

33. Caused by excessive diarrhea and vomiting.

34. It replaces lost fluids and salts in the body.

35. Organism that lives on the body of another organism.
Define the following (Write any 2)

36. Private Property

37. Sarpanch

38. Balanced diet

Short Answers (Write any 5)

39. What is spinning?

40. Why should a house receive ample sunlight?

41. What is a uniform?

42. How do Municipal cooperation get their funds?

43. Define an NGO.

44. What is canning?

. Long Answers (Write any 2)

45. Why should we take care of Public property?

46. Name a few famous monuments in India.

47. What are stilt house? Where are they found?

Very Long Answers (Write any 1)

48. Mention any five good food habits.

49. Write any four functions of Gram Panchayat.

50. Write any three functions of a society club in a community.

[5x1=5 M]

[2x2=4 M]

[2x5=10M]

[3x2=6M]

[1x5=5 M]
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